EE223 Collaborative Problem Solutions Lecture 36

Find the value of the parallel capacitance needed to correct a load of 140kVAR at 0.85
lagging pf to unity pf. Assume load is supplied by 110Vrus at 60Hz.

l. D(‘C...) P?uar ’&"\l‘«z')&o. (4\»’73 (9.9 {'\hs i\crs»(' ‘>

Q. Q = Yo lL\/AR ﬂ%w\w& a\o.j s line

=y

- reoinc D Con (0): 088 2 2180
b. e‘p 0%S | 9% 0_) 5(. foSrhoc ginet laajﬁ«s

—

Q=140 wiet

I ?: J4ol
it SR W
4en 31.8° 22k

C. Wl & laz,f) P Seeme Yk lowe Q . W‘C'V"‘L‘f PQ
> do -UMSI Mo sk pu-l' Yo Po\(ﬁ(l.e( cﬂf&dtl’pr Ak a‘?&(kbc
(= - 4o | VAR,

d, Use 3‘"’&\ Caz\nzﬁ Q(‘mo(q

c = -QC_— - &' 2 = m
) \];m (2T o) (116) |

Electrical & Computer Engineering, Virginia Military Institute COL Squire



